Table 9. Unit loads of pollutants (kg/ha/yr) from different land uses”
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TSS 1080 840 56 17 440 450 340 85 7
COD 1070 1020 63 28 330 n.a. n.a. n.a. 2.0
Pb 71 3.0 20-71 0.1 0.7 0.005 - 0.006 0.003-0.015 0.01-0.03 n.a.
Zn 3.0 3.3 35-12 0.22 0.33 0.03 - 0.08 0.02-0.17 0.01-0.03 n.a.
Cu 2.1 na. 0.33-1.1 0.03 0.33 0.01-0.06 0.02-0.04 0.02-0.03 n.a.
NO5+NO>-N 4.5 0.67 0.45 0.33 3.8 7.9 0.33 0.56 0.33
TKN 15 15 22-15 11-56 34-45 1.7 0.67 2.9 1.7
TP 2.8 2.7 09-40 02-15 13-16 0.1-3.0 0.07 - 3.0 0.02-0.45 0.06
* Exact values are given where available; otherwise ranges are reported.
Adapted from Horner et al. (1986)




